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QUESTION NO: 1

What is the recommended number of delegations for a SmartConnect zone name for each SmarConnect zone alias on a 
cluster?

A. 1

B. 2

C. 3

D. 4

ANSWER: D 

QUESTION NO: 2

When manipulating a job, which task can an Isilon administrator perform?

A. Change impact policies.

B. Update schedules.

C. Pause a job manually

D. Create a custom impact level

ANSWER: B 

QUESTION NO: 3

What are the considerations when a NANON configuration is used?

A. Increase frontend I/O ports and aggregated cache.

B. Increases capacity and aggregated cache.

C. Increases frontend network ports and capacity.

D. Increases bandwidth inside the cluster and GbE links.

ANSWER: C 
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QUESTION NO: 4

A company has an Isilon cluster that is joined to an Active Directory (AD) domain. Previously, the company replaced their 
primary NTP server and added new NTP settings to the Isilon cluster. Now the users are experiencing authentication 
failures.

What is a possible reason for this behavior?

A. Cluster and the AD are configured to use the same NTP server.

B. AD is not configured to synchronize its time from the cluster.

C. SMB time is not configured on the cluster to synchronize with the AD.

D. Time between the NTP and the AD differentiates by more than 5 minutes.

ANSWER: B 

Explanation:

Reference: https://www.dell.com/community/Isilon/NTP-and-Active-Directory/td-p/6954393

QUESTION NO: 5

An administrator uses a TreeDelete job to delete a large directory. After the job starts, users notice an issue with 
performance on the cluster. Which recommended action will resolve the performance issue with the job?

A. Modify the running job to use a high impact policy to reduce the amount of time users are impacted. Schedule the job 
after business hours in the future.

B. Let the job continue to run at the current impact level and schedule future jobs for after business hours so they do not 
impact users.

C. Modify the running job to use an OFF_HOURS policy that runs at low impact during business hours and medium impact 
after business hours.

D. Pause the running job and resume after business hours using a high impact policy so that it does not impact users.

ANSWER: A 

QUESTION NO: 6 - (DRAG DROP)

DRAG DROP

What is the correct sequence of actions performed by OneFS to generate an access token?

Select and Place:
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ANSWER:

Explanation:

QUESTION NO: 7

An Isilon administrator wants to create a new SMB share to an existing directory structure. The directory contains migrated 
production data and has an active NFS export. What will happen if the administrator selects the “Apply Windows default 
ACLs” option during creation?

A. Windows default ACLs are overwritten by the existing mode bit rights.
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B. Existing mode bit rights are overwritten by the Windows default ACLs.

C. Windows default ACLs are merged with the existing mode bit rights.

D. Creation of the SMB share fails due to the existing mode bit rights.

ANSWER: A 

QUESTION NO: 8

An Isilon administrator has four H600 nodes and eight A2000 nodes in the cluster. The file pool policy is configured to have 
all new data written to the H600 nodes. After a few weeks, the administrator has some concerns about the available capacity 
on the H600 nodes.

Which feature should be configured to accept writes, even after the H600 nodes become full?

A. SmartPools

B. GNA

C. Virtual Hot Spare

D. Spillover

ANSWER: D 

Explanation:

Reference: https://groups.google.com/forum/#!topic/isilon-user-group/CpalY7Jy6Xs

QUESTION NO: 9

When using NIC aggregation, which configuration is supported in an Isilon Gen 5 environment?

A. ext-1 and ext-2 of node 1 aggregated together

B. ext-1 and 10gige-1 of node 1 aggregated together

C. 10gige-1 port of node 1 and 10gige-1 of node 2 aggregated together

D. ext-1 port of node 1 and ext-1 port of node 2 aggregated together

ANSWER: D 

QUESTION NO: 10
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A user has recently left the company. After two weeks, the Isilon administrator receive a request to provide some files from 
the user’s directory called \ifs\user\John_Doe\development. The administrator then discovers that the required files have 
been deleted, but a snapshot of the directory is available.

After restoring the files from the snapshot, which additional step is necessary to access the files?

A. Restored files need to be copied from the .snapshot directory to the .restore directory.

B. Permissions of the restored files need to be changed.

C. Restored files need to be copied from the .restore directory to the user directory.

D. Permissions of the user directory need to be changed.

ANSWER: B 

Explanation:

Reference: https://community.emc.com/community/products/isilon/blog/2016/04/25/restoring-from-snapshots
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